
[image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]
[bookmark: _GoBack]Agr kisi ny Quiz karwany h mjy mail krdyee ya msg..
m.sufyan00765@gmail.com

image4.png
© Jaz O Qi

€ - C | ® quizvuedupk/QuizQuestion aspx?ver=ec 2bee3-60e5-4df4-930b-936b8a0e3444 | o
BC150400332: Syed Furgan Mustafa Em
CS610:Quiz No. 2 Quiz Start Time: 08:08 PM. 07 February 2018
Question #3 of 10 ( Start time: 08:11:14 PM. 07 February 2018) Total Marks: 1

[There are two standard implementations to improve computational eficiency: Hashing and Direct indexing

‘Select the correct option
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[False
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The address dentfies the physical network to which the computer is attached. while the dentfies an indwidual computer on that network.
p
Select the correct option
prefix suffx
L) p
suff. prefix
o p
suffo. suffoc
o p
[None of the given
o p
.
‘ ,
B csb10ecoraspdt A Showall | x





image6.png
© Jaz O Qi

€ = C | ® quizvuedupk/QuizQuestion aspx?ver=044457b7-9487-438e-Base-0a171c131940

)

BC150400332: Syed Furgan Mustafa

CS610:Quiz No. 2

Quiz Start Time: 08:08 PM. 07 February 2018

Question #5 of 10 ( Start time: 08:13:11 PM. 07 February 2018 )

Total Marks: 1

[The Network Layer Protocol ICMP stands for

‘Select the correct option

[Instant Control Message Protocol
(@)

[Internet Control Message Protocol

[Inital Control Message Protocol

[None of the given
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[Mapping between a protocol address and a hardware address is called Address Resolution

‘Select the correct option
[True

[False
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[HEADER LEN field gives size of extention header.

‘Select the correct option
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[Routers use. 1o forward datagrams along prearranged path.
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In Closed-form computation. the protocol address assigned to a computer is chosen carefully 50 that computer's hardware address can be computed from the protocol address using basic Boolean and
operations.
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layer Provides refiable delivery of datagram
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[As the Intemet grew. the original Classful addressing scheme became a limitation. The I address space was being exhausted because all networks had to choose one of twa possible sizes.

‘Select the correct option
[True

[False
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[UPD is operating system independent.
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[False
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[As the Intemet grew. the original Classful addressing scheme became a limitation. The I address space was being exhausted because all networks had to choose ane of four possible sizes.
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protocols of TCP/IP layering model specify how to ensure reliable transer
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encapsulates IP datagram s data area in hardware frame
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